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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Discuss the various types of cyber crime. 

lkbcj Økbe ds fofHkUu izdkjksa dh foospuk dhft,A 

2. Explain fundamentals of communication technology 

with its modes. 

lapkj izkS|ksfxdh ds izeq[k izfr:iksa dh foospuk dhft,A 

3. What do you mean by cyber security ? What are the 

challenges before it ? 

lkbcj lqj{kk ls vki D;k le>rs gSa \ blds lkeus D;k 

pqukSfr;k¡ gSa \ 

4. Doctrine of caveat emptor has lost much its 

significance in the modern times. Discuss. 

Øsrk lko/kku dk fl)kUr vk/kqfud ;qx esa viuh vf/kdre 

mi;ksfxrk [kks pqdk gSA O;k[;k dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only. 
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. What is Web Browser ? 

csc czkmtj D;k gS \ 

2. Why is DNS monitoring important ? 

Mh- ,u- ,l- (DNS) ekWuhVfjax egRoiw.kZ D;ksa gS \ 

3. What does Port Ping work ? 

iksVZ fiax D;k dke djrk gS \ 

4. What could you do to prevent man in the middle attack ? 

esu bu fefMy vVSd dks jksdus ds fy, vki D;k dj ldrs 

gSa \ 

5. Discuss the services available on Internet. 

bUVjusV ij miyC/k lsokvksa dk mYys[k dhft,A 

6. What is the definition and essentials of contract of sale 

of goods ? 

foØ; lafonk dh ifjHkk”kk vkSj vko’;d rRo D;k gSa \ 

7. Distinguish between sale and an agreement of sell ? 

foØ; rFkk foØ; ds djkj esa vUrj crkb;sA 

8. What are the duties of a consumer ? 

miHkksDrk ds dŸkZO; D;k gSa \ 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the correct answer : 

lgh mŸkj dk p;u dhft, % 

1. Which of the following acts aimed to provide 

Electronic Commerce ? 

(a) Information Technology Act, 2000 

(b) Information Technology Act, 2004 

(c) Information Technology Act, 2008 

(d) Information Technology Act, 2010 

fuEufyf[kr esa ls dkSu&ls vf/kfu;e dk mn~ns’; bysDVªkWfud 

okf.kT; gS \ 

¼v½ lwpuk izkS|ksfxdh vf/kfu;e] 2000 

¼c½ lwpuk izkS|ksfxdh vf/kfu;e] 2004 

¼l½ lwpuk izkS|ksfxdh vf/kfu;e] 2008 

¼n½ lwpuk izkS|ksfxdh vf/kfu;e] 2010 

2. Which of the following is not an example of operating 

system ? 

(a) Windows 98 
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(b) BSD Unix 

(c) Microsoft Office XP 

(d) Red Hat Linux 

fuEufyf[kr esa ls dkSu&lk vkWijsfVax flLVe ¼lapkyu 

O;oLFkk½ dk mnkgj.k ugha gS \ 

¼v½ fo.Mkst 98 

¼c½ ch- ,l- Mh- ;wfuDl 

¼l½ ekbØkslkW¶V vkWfQl ,Dl ih 

¼n½ yky Vksih fyuDl 

3. Which was the first web browser ? 

(a) World Wide Web 

(b) Netscape Navigator 

(c) Internet Explorer 

(d) Safari 

fuEufyf[kr esa ls dkSu&lk igyk osc czkmtj gS \ 

¼v½ oYMZ okbM osc 

¼c½ usVLdsi usfoxsVj 

¼l½ bUVjusV ,DlIyksjj 

¼n½ lQkjh 

4. What is the name of the Act that hoverns Internet 

usage in India ? 

(a) The Internet Consumption Act, 1998 

(b) The Information Technology Act, 2000 

(c) The IT Gazette of India at 2004 

(d) None of the above 
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fuEufyf[kr esa ls dkSu&lk vf/kfu;e bUVjusV ds iz;ksx dks 

fu;fU=r djrk gS \ 

¼v½ bUVjusV [kir vf/kfu;e] 1998 

¼c½ lwpuk izkS|ksfxdh vf/kfu;e] 2000 

¼l½ vkbZ- Vh- Hkkjrh; xStsV 2004 

¼n½ mi;qZDr esa ls dksbZ ugha 

5. Which of the following is full form of IP Address ? 

(a) Internet Provider Address 

(b) Internet Province Address 

(c) Internet Protocol Address 

(d) Internet Prepaid Address 

IP Address dk iw.kZ :i D;k gS \ 

¼v½ bUVjusV izksokbMj ,Mªsl 

¼c½ bUVjusV izksfoUl ,Mªsl 

¼l½ bUVjusV izksVksdkWy ,Mªsl 

¼n½ bUVjusV izhisM ,Mªsl 

6. Which of the following is not wireless communication 

device ? 

(a) Bluetooth 

(b) GPS 

(c) Infrared communication 

(d) None of the above 
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fuEufyf[kr esa ls dkSu&lk rkjjfgr lapkj midj.k ugha gS \ 

¼v½ CywVwFk 

¼c½ th- ih- ,l- 

¼l½ vojDr lapkj 

¼n½ mi;qZDr esa ls dksbZ ugha 

7. Price is defined in Section : 

(a) 2(1) 

(b) 2(3) 

(c) 2(7) 

(d) 2(4) 

ewY; dks ifjHkkf”kr fd;k x;k gS % 

¼v½ /kkjk 2¼1½ 

¼c½ /kkjk 2¼3½ 

¼l½ /kkjk 2¼7½ 

¼n½ /kkjk 2¼4½ 

8. Future Goods is defined in : 

(a) Section 2(4) 

(b) Section 2(1) 

(c) Section 2(5) 

(d) Section 2(6) 

Hkkoh eky dks ifjHkkf”kr fd;k x;k gS % 

¼v½ /kkjk 2¼4½ 

¼c½ /kkjk 2¼1½ 

¼l½ /kkjk 2¼5½ 

¼n½ /kkjk 2¼6½ 
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9. Contract of Sale is defined in : 

(a) Section 5  

(b) Section 4 

(c) Section 3 

(d) Section 2 

foØ; dh lafonk dks ifjHkkf”kr fd;k x;k gS % 

¼v½ /kkjk 5 

¼c½ /kkjk 4 

¼l½ /kkjk 3 

¼n½ /kkjk 2 

10. Consumer is defined in : 

(a) 2 (1) (a) 

(b) 2 (1) (c) 

(c) 2 (1) (d) 

(d) None of the above 

miHkksDrk dks ifjHkkf”kr fd;k x;k gS % 

¼v½ 2 (1) (a) 

¼c½ 2 (1) (c) 

¼l½ 2 (1) (d) 

¼n½ mi;qZDr esa ls dksbZ ugha 
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